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o el T2k ERE 11137:: —Hﬂaﬁ*ﬁm )I/;n:m%%ﬂimn) iﬂzf o 157 Gn) x| 5 e u | R
S ol =) BAL | (km) | (m) | (km)

1 | REARE(EFIRA) 5 B |&FHiRO 675 KEAR&E 1,871 | <FHhR O 675 103 181 ~ 202| 202 453 WKL

2 [AIXRFABEEBHRA) <HVIILER-KFEL> 5 B |HBEELR 555 KEAE & 1,871 |EABESLR 555/ 115 195/ 1.87| 187  46.4| WkE

3 [MIBEEZ L IMER) <MLL RES-BEXE> 2 B |UJMER 1,820 BHEZE L 2035 EHEEZILO 863 4.8 9.1 054/ 150 17.7| WikE

4 BRSW(KBFE/DNE) 7 C |KB®ENME 612|8R= 1L 2,106 | KBE#/NMNE 612 16.7) 215 269 269 649 WLkE

5 |BRZBIL(RA\E)<FATFER> 7 D |X¥F 432 2L 2,105 | K¥IF 432 17.8 213 270 270 67.1| WkE

6 |[AW(AWLYIEER) <FETHUE> 2 B |AWJIKERR 1,520 A 1L 1,984 ALY THLEER 1,520 3.7 6.0, 050 050, 13.8 WKE

& | 7 AWU\EBEES) 3 A |J\EBEEIS 1,380/ A 1L 1,984 | \EHEIHS 1,380 57/ 108/ 070, 070 208 WHEE
2| (HIREEHE(BESAFRAE—15- NE) T+ EER) <> %5 2 B |BEF/HRX—5| 1110 8EEE 1,841 |EEMEAYTIFLEER 1,700 4.6 72 093 032 199 WEE
9 |[#t]1thE&E Gk L TEER - Bk B IRE) <LVAIXEB > %5 1 A [HEKILTEER 1,665 Mg & 1,736 |#kE/RER 1,340 1.7 45 012|042 59| Wiz

10 |§\IGE/60) <&k > X5 3 C |im/BH 1,182t 5 2,229 |iz/ &0 1,182 78 106/ 1.16| 1.16 295 IWLKE

1|5l (YHER) <#E/NE-FIEA> X5 5 C |M#EA 1,044 %L 2,236 |WHA 1,044 98 145 172 1.72] 401 WER

12 | Bl (8831) <HFH> 4 C |81 1,160 LU 2,236 | $&3L 1,160 95 182 130, 130 36.3] MER

13 |E\LGRID <tsWl> 3 C |kl 1,185 €& 2,229 |kl 1,185 73 116/ 110 110 283 MHER

14 |[E1]/\#&FE (LUTREEE5) 1 A |IUTEBFES 1,540 J\#&FILTE 1613 |IUTEEIE; 1,540 1.2 28 010 010 41 BEAR

15 [t B4E 1L - B & (TRt - KilD) 2 B |t 1,347 251 1,828 |KiF 1,355 3.6 43 050 050 131 HEES

16 | E{LLL (IEFFLR) %6 2 B |IBfFlr 1,592 Z{hLL 2,228 |IEfFIE 1,592 4.7 95/ 070/ 070 187 HER

17 | EEIL(288) 2 C |EBE 1,352 £i& L 2,144 2B 1,352 4.7 6.2 080 080 188 EMEL

18 |[E]12#81U (FRILT) %7 7 D |[fRILTF 829 2L 2,144 \$RILF 829| 141 265 261 261 609 HKE

19 | AR E (lkDFEEES) X5 2 B |lROFKEEHES 1,462 BiHE 1,896 |IEDEEEFIHE 1,462 3.1 51/ 047 047 120 #HKE

20 |=ARMEE (LR RETES) X5 3 B |AEREIES 1,090 =AREE 1,917 |dLRREFES 1,090 60 114/ 096 096 243 #HAKR

R 21 |ZREE (LROFREETES) X5 2 B |lROFKEEHS 1,462 = Kt8 & 1917 |IEDOFREFEE 1,462 5.0 9.1 076/ 076 19.7 #HAKE
78 | 22 |ZEIE (ITHER) %58 1 A |ILTEER 1688 ZF1E 1915 |ILTEER 1688 12 18 023 023 51 HAE
é 23 | HEAE (lROFEEETEE) X5 2 A IEDOFREFEL 1,462 K& 1915 |IEDEEFIHE 1,462 2.6 50/ 046 046/ 11.0| HKE
5:6 24 | BAKIL (FRETE) %5 3 B |HFEW 1,281 5B{kLL 2,486 | =i 1,281 6.3 83 125 125 270 #HKE
= | 25 [[(BA]1BXaRUGhERR) 2 B |RBASKGUIEER) | 1995 B BRI 2578 |ABBR(UIEER) | 1,995 5.0 76/ 070 070 18.7] MER
A 26 |BHBERILER) 3 B |&A 1,736 B B4R 1L 2,562 & 1,736 52 125 130, 130, 269 HES
27 BRI (SRR RIL) %5 3 B |&fFIrIEIE 1,843 BARLL 2578 |EFIRAIEIES 1,843 73/ 100/ 129 129 298| #HAR

28 [[A)B4RILGHIT) X2X5 4 B |&T 1,488 BRI 2,578 |i&TT 1,488 82 124 145 145  338| HKE

29 |[FyiE(E/BETEE) 5 D |fE/REIEE 846 FH4 & 2,140 |E/BETEHIS 846| 11.8) 226/ 182 182 472| #HiBE

30 HEL(KEXKS) 3 B HE%S 1,379 M HE 2,158 | HEHIG 1,379 60/ 134 090 090 244 mEER

31 ()R- KE L (KEM- £ /[R) 4 C |EROEEHG 1,096 ;i E 2,158 | BRODEEHE 1,096 93 126/ 130 130 343 BEE
(AIXEWL (ISEHES) <FBEEH> %2 4 C |NHEFHES 1,220 P HE 2,158 |JIIIZEFES 1,220 100/ 11.2| 120/ 120 341 HES

P (B £ 45015) <iRF&> 3 B |EF%S 1,590 FH BT Ly 2,354 |EFHIG 1,590 7.3 95 110 1.10] 277 EEHE

oY RAT LI (g D i) 3 B |IEDIR 1,510 P9 FaT L 2,354 |IEDJR 1,510 70, 126 1.18] 118 289 RHE

Py L (S LR) 3 B |BElk 1,365 FHBAT Ly 2,354 |BEIE 1,365 6.7 133 1.10 1.10] 277 HER

AR L (/85 ) 3 B aﬁéf%%mif‘ﬁl 1,280 PO R Ly 2,354 ﬁé’cg%mﬂﬁﬁ)\ 1,280 75 136 110 1.10] 289 HMER

FIgfLL (NRIRR) 3 C |MfimE¥vr>75, 1,150/ FgfLl 1,963 |MffimE¥xvoSH| 1,150 7.0 80 104/ 104 260 EBE

FEm LU (Fe SR R EE B 15) 3 B |MinmREHES 877 FfRLL 1,963 |FREMEREIEL 877 6.8 6.2 109 109 258 #HHBE

iR & (RTEELA) 4 B |&#TlrELO 1,059 #&E & 2,003 |&xFlEZILO 1,059 78 145 128 128 320 #HBER
SZI(FEFvUTi5) X2 4 D |FRE¥v>75 1171 &E W 2353 FRE¥*vTi5 1,171 8.8 134 142 142 349 EHE
(AIEZEIL(FRFvrT715) X2 4 D |FRR¥xv>Ti5 1171 &E LW 2,353 |FIE¥v TG 1,171 85 136/ 137 137 339 EHE

BNE (REBE) <XKMHER> 2 B |X#¥E 1,313 FRDE 1,963 |RK#FE 1,313 5.2 60, 070 070 18.6] HEE

(1= E->=E I (KRB E- = i) 5 B |R#¥F 1,313/ l/& 2,026 |=[Eik 1,301 81 211 220 220 442 BES
HNEFEREREZLA) 3 c |BAERERZLO 803 FYDE 1963 BEERZFILO 803 7.7 71, 120, 120 287 BER
BHIE(RFHREE) <ERBIFHHE > 3 C |[RFHRESE 838 hY D EH 1,963 |RFHRHEE 838 8.2 60/ 110 1.10] 282 HES
(ft]&NE—-BEM(XHE-£5) 6 C |XR#ls 1485 KR E 1978 |t& 679 155 227 190 270 553 HEE
EiEWUNRR=EH) 3 B [/NFR=EH 1,310 &5 2,145 IMFRIR=EEB 1,310 6.2 94 084 084 229 EFE

15 (iR BB 1S <ik)IL—k> 3 B |WkIEEES 1,268 HiZIL 2,145 |iR)IIETE15 1,268 6.7 122 1.22| 122 286 #HBE

AATIL (i LA) 4 B |#4EZFLAO 1,314 K3TIL 2,462 |HE4IEZFILA 1,314 85 160 131 131 340 #HBR

BTENL GEREZILO) X23%5 4 B |ZXME&ZILO 1,200 AT 2,524 |%EEWLA 1,200 93 218 148/ 148 390 EBE

ErgIL (HiRETEE) <HFERI—X> 4 B |tkIREIEFIS 730 4L 1,967 |#xiRETEEI5 730 80| 109 137 137 322 #HBE

(R )&#IL- 35 1&E (MR B ES) <EI5IRIL—~ HFEEI—X> 4 D |#xiREIE1G 730 4L 1967 |#kiRBIEEIS 730 81 105 142 142 327 #HBE
(A& 25| E (BREEES) <XVERIL—MHFERI—R>| 4 D |txiREIE15 730 4L 1,967 |#xiRETEEI5 730 83 108/ 135 135 325 #HBE
(AlwE Il (R REIES) R E - EEIF KN4 4 B |HEREHEIE 1,004 0L 2454 |FERSREIE 1,094 78/ 111 142 142 325 HBE
HREEE (LS <ER> 7 C |LEth 1504 HESE 3190 | L&k 1,504 17.7 36.6] 208 208 648 EHE

56 |BEEE (FEE) 6 C |¥FfEm 1,091 BESE 3190 #HEs 1,091 163 184 226 226/ 588 BHERE

i | 7 SRS <EHE> 6 C |#RE 1,091 4 & 2,898 #fES 1,091 149 223] 241 241 590 BFEEE
7| 58 %o E (HRES) </NbFE> 8 B |#ES 1,091 & 2,898 | #FiEm 1,091 184 363 297 297 754 ZRE
)7L{ 59 |[A)Er& (#ieS) <EHE-/MFE> 7 C |#HS 1,001 557 & 2,898 HiES 1091 165 293 268/ 268 668 EHER
A | 60 ()=~ & GiEe B R) <EHE> 6 C |#Es 1,091 F4& 2,898 R 968 155 185  223| 235 571 EKEE
61 [BAlEZr&EGEE-1RR) </NthiE> 7 C |#Es 1,091 &4v & 2,898 |HER 968 17.4  26.0) 255/ 266 66.2| IKEE

62 [A)ZrE-RANE-BrEFHREE) 10 C |#Es 1,091 84 & 3,180 |#fEmS 1,091 284 434 416/ 416/ 1082 xRS
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63 |[BAIRARE-Z7EFHRES) <ZHhE> 9 C |#Rs 1,091 &4 & 2,898 | #HFEE 1,091 212 366/ 329 329 840 IxEE
64 |[HIMANE-FZEFHRES-ER) </NithHE> 9 C #FEs 1,091 4 & 2,898 R 968 218 328 311 323 821 EKEE
65 [Mt1ESHE & Ty E(KER-BR) 6 C |KRBHE 1,084 BEEMETE (FEIE) | 2,889 |miR 1,338 151 198 240 214 583 EBE
66 ESEsE(KAR) 6 C |XK&R 1,084 EEEHETE (FIE) | 2889 | KAR 1,084 142/ 184 205/ 205 527 RBE
67 [EEREsE IR 6 B |EiR 1,338|EE BT E (FIg) | 2889 |RmiR 1,338) 148 212 244 244 588 RBE
68 | [#t]#& 3 LLIEEHEE 10 E |[K&/NE 2,903 FF O HERE 2924 |\BEILHE 2,832| 498/ 609 597 601 1712 ELE
OFOREE (KE/NE-BIETF/NE) 2 C |K&@/NME 2903 BFO RV E 2924 BIEF/INE 2,527 5.3 89 043 077 169
QBEFE-MEE(REFNE-MENE) 3 D |RIEF/NIME 2,527 BIRE& 2,625 |fME/NE 2,450 83 100/ 087 096 27.1
QtREE-EEE(ME/NE-H/KNE) 3 C |[MENE 2,450 SEFEFE 2,799 |#t/K/NE 2,536 5.8 6.4 074 063 202
@t/ KRE-B/NERE (#t/ KNE-FE ML) 3 C |#H/KNE 2,536 &t/ K& 2,821 |f&ith L 2,450 78 103/ 087/ 098 263
Oy E-BER,EFEMILE-FIMNE) 3 D |FEMLTE 2,450 E SR ERFEIE 2,889 |FLykNE 2,450 7.0 76/ 084 083 238
®REE FLyMNE-BRETREEILE) 3 D |FLyMME 2,450 AEEE 2814 |FEWETRLEILE 2,696 7.2 74 097 081 253
OENRE-HFEEREELLE-AEILE) 4 E |BWRERELILE 2,696 S & 2903 |BEELHE 2,832 85 103 125/ 104 314
69 |READE FiES) </NthFnE - JNEEREBR > 10 C |#RE 1,091 MARE 2,860 |¥FfEE 1,091 252/ 440 367 367 974 xEE
70 |EBEBRERE (R 1IL) X4 7 C |R#E~2RIL 1,448 BREBHERE 2,840 |FRiEEbRIL 1,448 170 282 240 240 645 IFERE
71 |[(#it] B &P R ERE—INE (FRi#E b )L - FifEm) </INhEhE> 8 C |k RIL 1,448 WNE 2,860 FifES 1,091 214 358 281 317 792 EKEE
72 | AA/MRE(L/E]- B8 AERE (H730) 7 B |#7TiL 1,350 REBRERE 2,840 |#riL 1,350, 17.6) 30.1] 229 229 649 EWLE
73 |[#t1ENRE-REE (\AMILUE-7ILTXEER) 5 C |J\AMLHE 1,835 AEE 2,814 |7 I)LTRAEER 1,530, 121  171] 166 197 447 RBE
74 |\ EEE(TILTREER) 5 C |ZITREER 1,532 AEE 2814 | 7ILTREER 1,532| 114, 154| 162] 162 424 RBE
75 | BRE(—/R) 4 B |—/iR 1,329 B2k 2,857 |—/iR 1,329 100, 121 153] 153 379 EBE
76 BeE (=) 5 B =i 1,359 B2 E 2,857 |=R% 1,359) 137 105 153 153 440 EHE
77 |[fit]grE-E2E (LaH-—/R) <RIFEER> 6 B |L&Eih 1504 E2E 2,857 |—/iR 1,329 150 228/ 190, 207 540 RBHE
78 [T E-B2E(ER-—/R) 5 B =i 1,359 B2 E 2,857 |—/iR 1,329/ 118 158/ 1.96| 199 467 EHE
79 |[ft)RE-FEZE(RFERR-—/R) 7 B |#EEZILO 1,455 E2E 2,857 |—/iR 1,329 165 230 239 252 620 RBHE
80 [[#MtIBRE~EHBEE(RE -EFEERR) 8 cC |&RE 1242 BB E 2932 E#ERR 1,470 197 286 291 268 746 RBHE
81 BREURA) 4 cC =B 1202 BB E 2932 & 1,242 98 132 172 172 399 RBE
82 |BEEG(Fith) 5 B |H#itBEARE 1842 BHEE 2932 |HHBRE 1,842 120 17.7) 150 150 428 EHE
83 ([[#MtIBEE(HBRERRE) 6 C |#AB®RER 780 BE & 2932 IRE 1,242 138 220 254 209 581 =g
84 [BIBEE~HBE(GEERR) 8 B [EHEERR 1470 BB & 2932 EERR 1,470 203/ 331 299 299 781 EWE
1t 85 [MtIBBE~EFHBEE(RE EFEERR) 8 cC |&B 1242 HEE 2932 [EERR 1,470, 199/ 300 305/ 282 770 EwWE
)7 | 86 |[H]ERE—HEE—1BEHE (8t A AR BRMEE) X0 10 B |iBithBEAE 1842 BB E 2932 |HABE 0| 298 479 374 551 108.7] ELE
)jl/’ 87 |[#tldt/RE( L/ E]-K&E (i - RARMER) <BesTHE> 10 C |#ii 1,350 K& & 2,986 | RARMER 1455 345 498 416 401 1210 =R
A 88 |HELL (EES-3ITI) 2 B |EE-IfIL 2,450/ 1L 3,003 |EE4-3tI 2,450 3.5 58 059 059 143 ZWLE
89 |[[A1tEL—R1l (EES-3FL) 3 B |EEI-IFI 2,450 K%L 3015 |ZEE4-31) 2,450 70 111]  1.16] 1.16] 282 EWE
9 [Al#L-EME(EZ5-3H) <KEYTIWL> 3 B |EE4-3fI 2,450 K&l 3015 |EE4-31) 2,450 6.0 9.1/ 097/ 097 238/ EwE
91 |[#t]AEENF (BEI-3TIL-BERHER) <WEBIKA> 4 C |EE4-ITL 2,450 K&l 3,015 |BER;HAER 1,455 102) 154] 132 224 374 EWE
92 |[#it]NELBNTF (REBHER - EEI-3IFI) <WEBIKA > 5 C |ZEBHER 1,455 K&l 3015 |EE4-31) 2450, 113| 154 224| 132 482 ZwWE
93 |FHE (BES-3T) <AlILEERE> 5 E |ZEE5-ITIL 2,450 #H& 2,999 \EEI-ITL 2450, 108/ 16.7] 190, 190 446 EWLE
94 ME(FKIHE) <BAREE> 6 E |Bi&ES 762| F& 2999 BiFE 762| 155 158  243| 243 584 =WE
95 |[#t]RTR - & (EEI-ITN-BIHE) 5 E |ZEEI-ITL 2,450 & 2999 |EHiFE 762 119 162 1.36| 305 41.7| ELE
96 ([#tIDME—RID(FBEHS-EEI-ITI) 7 E |BES 762| & 2999 |EEI-IT) 2450, 144| 162 305 136 621 ZWwE
97 |[#it]EEzE (EnEEHE - &) 4 B |#WfAt5 1,570| &Il I 3025 B 2,700 70 108/ 152 039 312 RBE
98 |RERE ([ % FFHR) ¢43%5 5 B |MIZEFH 1,462| T8z & (R~ 1E) 3,026 |f % FRAR 1,462| 108 169 167 167 422 IxER
99 [l E(FE-&ET) X5 5 c FE 1,029 iR (R~ 1) 3,026 & 2,702| 107|168 217 050 463 KEE
100 |SEERE (B T) X5 2 B |&F 2,702 R (Rl I) 3026 |EF 2,702 2.7 6.2 041 041 110 KEE
101 [[Ht]FBRE (REFLVEXIROR - EF) X5 5 C | REBLVEIROR| 1512 RHKE (Fly1E) 3,026 |&F 2,702| 108 194 202 083 459 KEE
102 | E (FiHRRAT—15) X5 7 C |FHFERAT—I5 1,311 TR E (R~ 1) 3026 |FEHRRAX—I5 1,311 144 263 249 249 602 KEBR
103 |[#it]RE EE—FER&E (BEI-3IF-H730) 8 C |ZEEI-ITL 2,450 EAf & 2,926 |#r3L 1,350, 208 286/ 223 330 702 EWE
104 |[#t) BN E—REE & (Wi - EES-IT) 9 C ¥ 1,350 ZEHE 2,926 |EEI-ITI 2450, 231 286/ 330 223 844 FWE
105 | ZERAE ($r3L) 5 B |#iL 1,350 FHEM& 2,926 |#riL 1,350 13.7/ 205 181 181 500 EWLE
106 |t (Frep /iZ B O) %5 2 B |#FH/&&EILO 1,600 Bt (AL1) 2444 |Frh/imEFILO 1,600 5.0 6.4/ 086 086 200/ EFE
107 |[#t)ERESE-RE FRE0—T (-G E) 5 D |#FifEen—Tvz4| 212 ERSE 2909 |BEHREZILO 1,154 132 172 172| 272 4717 xBE
108 | (R EZILO) %5 4 C |BEEHEZLAO 1,154 BE 5 (JLI) 2444 |BEEHREZELO 1,154 7.7) 109 145 145 325 KEE
109 |[#it1RIREE (BFE S L - ESith) 10 C EEFL 1,271 1B & 3,180 | L&k 1,504 323 478 384 360 1131 RBHE
110 |[#it1RERE (P FERER - L) 9 C | #wEZLO 1,455 1B & 3,180 | L&k 1,504/ 253/ 375 307 302 892 RHE
111 | [AIRFLyb(EEH) <JtfE—1E> 9 E |LEih 1,504 184 & 3,180 | L&ith 1,504 252 417 265 265 860 EHE
12 |\ BrE(LEi) 8 C |Lt&ih 1,504 #8 7 & 3,180 | L&t 1,504 200 391 213 213 703 EHE
13 |[AIWMARE—-ESEFEE) <REFH> 8 C |¥Rs 1,091 84 & 3,180 |#HEm 1,091 222 327 273 273 787 IZEBER
14 #B5EGEE) <REEFE#> 7 cC #FiEs 1,091 184 & 3,180 |#FitEm 1,091 17.00 264 241 241 640 IxRE
115 1B & (FHEE) <mEHE- FXoE> 8 D |#HES 1,091 84 & 3,180 |#¥Em 1,091 198 285 274 274 732 ixBE
116 (Bl E-REGERE) <REEFE#> 10 E |#RE 1,091 BEESE 3,190 |#FiEm 1,091 270, 296 337 337 932 ixRE
17 |[AIE/ F-=FEHEE (1) 10 B |#fiL 1,350 ERE 2,924 |¥73iL 1,350 274/ 428 358/ 358 100.1] ELE




o | g - ﬁij,r;f %/%FE i;;—htﬂ,.-%ﬁ?mn) »;ﬂ?@%%tti — iﬂf?iﬂﬁ ___ f—_x )gh ;-ﬁfﬁ_ﬁu %ﬁgﬂ) )}%;
1S e i AL | (km) | (km) (km)
118 | FR&& (AR ZEILA) 4 C |MERZLO 1,760| " & 2,899 |HIAZELA 1,760 82 115 145 145 335
19 | & (ERRF) <FER-X=8> 3 C |ERF 1,690 R & 2,899 |ERF 1,690 7.3 106 1.23] 123 294
/,7\ 120 |[B)FRE-HEE-RE (ERF) 4 C |EEF 1,690 FRE 2899 |EXRF 1,690 98 153 148/ 148 379
1121 KB GELH) <ERER> 4 D |EL#F%F 1,474 KR E 2,899 |EL#H 1,474 91| 152/ 143/ 143  36.1
% 122 | &E (ELFH) <ELFER> 4 D |%EL#F%F 1,474 R E 2,899 |ELFHZ 1,474 93 134 143 143 359
D | 123 [[AIE£Y R (ZHHBS) <A TAR—E<NIG - LM > 2 B |=W#iE 1,420\ £ /758 2,034 | =HHIE 1,420 4.4 83 066 066 175
% 124 [A)FESE\BER) <B &R <R IL-FEILF> 3 A \BER 1,640 E|L| 1,925 |\BE[R 1,640 6.2/ 133 062 062 217
125 | ERHU (KA RILR) 2 B | KiARls 2,090 ZF1L 2,530 | KA g 2,090 4.0 54 051 051 142
126 | 2RI (ZKEHEE) 2 B |XR#HERE 1,720 Z#H1L 2530 |HMEEE 1,720 5.0 6.0 081 081 194
127 |[[BIRBIL (R RTIL 1) 2 B |XRWERIILIE 1,040 B =B 1,406 |REERIT LTS 1,040 4.3 74/ 059 059  16.1
128 |[#it] =&l - R RES & (EYB - EXRE) <+XFl> 7 B |[BYB¥F 1,567 LB F L& 2,601 |EKFE 1,433 171 283 239 252  64.6
129 |11 (@Y B ) 3 B |[EYB¥FE 1,567| &gl 2599 |JEYEF 1,567 60 120/ 108 108 259
130 | &g 1L (BRI ILTE) 4 C |ImimiliE 1,510 &L 2,599 |EmiEILE 1,510 82| 113 113 113  30.
131 | gLl (K5thiR) 2 A | Kt 2,365 & 1& L 2,599 | Kithis 2,365 4.5 82| 037 037 145
132 ERL(ERUMKRERERYT —M <=ZFDiH> 4 B |#IMEHESY—F 650 ZHEILI 2,017 |&ILAKEABSS—b 650 87/ 192 160 160 384
3.3 133 | ZEL (B&R) 5 B |BBIR 550 ZEERLL 2,017 |BBIR 550 9.7 237, 167 167 423
=l 134 [AIFRETE(BERE) <BERErE-+XFiIE> 4 B |EXRF 1,433 =ZF 1L 2,483 |EKE 1,433 89/ 154 137 137 352
EILI: 135 BRESE(FRESAD) <ELLAHIE> 4 B |FREAAO 1110 R REL & 2475 |EREAAD 1,110, 103 148/ 156/ 156 395
C REET AN D) 4 B | KAt 2,365 ERfis & 2,592 | Kithis 2,365/ 120/ 197 084 084 364
0%) 137 |[[BIXERERE (OO RER) <X ERELR-FBRER> 2 A OV RER 1,580 KETEHE 2057 AvURER 1,580 35 74 053] 042 141
{?J 138 | B I(RNILSAVEEH) X13X5 5 B |RNLZAVEEH| 2305 =X 3776 |R/NILSAVEERB| 2305 1100 161 171 171 427
= 139 |21 (FRiR) 3% 1%5 6 B |[BR 1,433 1L 3776 |FHiR 1,430 141 227 245 245  58.1
140 | EL 1L (TR 5 O <BAWLEAD A >) X1 7 B |HESOHASE| 1440 FLILRISIE 3776 |HEHXZOFESHE| 1440 154 211 245 245  60.1
141 | 2L CGEEO<RALEDA>) X1 6 BAEORSE 1,960 & T IL&|~ i 37716 ZEEMLOREH 1,960, 140 154/ 1.92| 192 502
142 ExL(EXERA<EWLEADA>) X1 5 EtTEORAH 2,390 & L LU~ 3776 ELXEOREH 2,390, 118/ 108/ 153 153 407
143 | EmiE L (R I aE) 2 I LU E 1,510 BRiELL 2,230 |EmfEILEE 1,510 5.0 58 079 079 19.1
144 |\ ZRE (BriRER) 6 By RS R 860| EKRE 2,864 |EIviRE[R 860 12.8) 197 205/ 205 508
145 |[E]ZE K- E (S EIRE) 7 SHIREB 1,080 ZZARE 2,864 | SEAIRYE 1,080 177/ 250 ~ 250/ 250 658
146 | AL (EHMAES —b) <EAREZFLO > 3 AR E S —h 1,135 EARLL 2,191 |IEEMET —k 1,135 60 11.8/ 117 117 267
ch | 147 |BARL (RFRELD) 4 EHRZFLO 1,175 AR 2,191 |BHRZFILAO 1,175 75 150  1.33] 133 320
% 148 | (AT=EZEILA) 5 RIEZILO 740| EFBLL 2,191 |[HIEZILA 740 114 133 153| 153 407
)jtﬁ 149 |FEARL (PR EILLIA) 4 fafRiRE LA 1,567 AL 2,191 |fRlsE LA 1,567 87| 126/ 134 134 336
A | 150 | #sgkIL (AR ZR = TR ER) 3¢5 3 xR = R ER 2,120 fEsEkLL 3,067 |BRFFE/RER 2,120 4.5 77 095 095 204
@ 151 |fE4Ek L (H DR %5 3 H®DIR 2,200 {5k 1L 3,067 H®DR 2,200 5.0 72| 093 093 210
E 152 |15 (FrABER/—1)—h) 5 FoAEER/ Y- 1,797 ISR (R 1E) 3067 |FrAfER/-)/-b| 1,797 128 158/ 163 1.63] 450
él 153 | {5k LU (G&ial) 4 peapel| 1,780 | {E15zk LI (R4 i) 3,067 | 1,780, 108 129 141 141 382
W 154 |k @mE0E (FLTRILTE) < EHRA> 5 TILTRILGE 1,080 RE BT & 2,956 | 7ILTRILGE 1,080 11.6) 175 225 225 499
155 | KEBY & (2H2) <KEREB> 5 =V b 1,360| K E BT & 2,956 |OHS 1,360 118 131 1.78] 178  44.1
156 | KBB4y & (FEH) 2 FEH 2,650 K EEIT & 2956 |FEH 2,650 3.7 38 043 043 123
157 |[#tIREB—ZR(FEH- RS R) 6 FEH 2,650 KE BT & 2,956 B9 RS IR 860 162 213 136/ 3.15 51.0
158 | BIL(AHEELO) <mEitER > X5 9 AEHBEZFLO 960 B LI ({E1RITIE) 2,702 HEEZFLO 960, 215 348 357 357  86.9
159 | B (KZF) <JL#HEER > 4 X5 10 RE 722 51U ({EIRITIE) 2,702 |KE 722| 2770 411 411 411 1057
160 | B (KBJIER) %5 4 KBIJIERR 1,256 = LU ({H1ATIE) 2,702 | KBJILRESR 1,256 82 142 165 165 365
161 | BIL (ZAEEES) <JLHtER > 45 10 =HEEES 1,461 B 1L ({HIRTIE) 2,702 |=HEEEY 1,461 257 411 366/ 366  97.3
162 | 1L G A FA—F ST < LR R > %45 10 EE@Q’E}E?U“‘ 772 B3 1L (FIATIE) 2702 EE@;{'@?U’““ 772|314 460  436] 436 1165
163 |fA/& (LAR) <EY RY> 6 JL5AI R 1,520 L& 3,193 |[L:A[IR 1,520 16,0, 19.1] 206/ 206 56.3
164 |[#tlFRBE-EERES-ER) 9 HmeEoy> 1,120 R A E 3121 |EERZFILO 1,140 229 282 378 376/ 898
165 | FRAE(RS) 6 =T m B 1,120 R A E 3121 |[#EEOYY 1,120 148 169 255 255 587
166 |[#it]15%)I1& (Rl&E) —FIE (RE) (RE-#E) 9 PR 1,630 )& (RE) 3141 #EOYD 1,120 205 324/ 320 371 808
167 ([B]F#E-FRIIE (ZEF/NE) 5 “FNEOYY 1,390 IR E 3141 |ZEHPMEOYY 1,390 125/ 147 197 197 478
168 | [A)FHE-FTINE-FRAEHES) 8 HmeEOoy> 1,120 IR E 3141 HEEOVY 1,120 19.8| 274 329 329 788
169 |FR2EED 4 & (JLIRIR) %3 3 JbiR 2,030 R EEGS = 2,967 |dLiRIE 2,030 7.2 6.8 111 111 267
170 | (B R £8 s & JLRIER) <flizKis - IR L > %3 3 JbiR s 2,030 REES & 2,967 |JLiRi 2,030 7.2 84 117, 117 279
171 | REER s & (MFE T E/1t) 6 B Ewit 770 RN~ & 2,967 |MFENEE 770, 150  17.3] 232| 232 5638
172 L& (EAR) <ET Y > 5 [ 1,520 Jt & 3,193 |[L:A[IR 1,520 107 115 173 1.73 410
173 |[#tl At E-ERRE(LRR-ZRA) 7 [i5A] R 1,520 L& 3193 |ZERH 830| 183 253 255 325 679
174 | [#t] L E-BERE (LRR-B2) 9 I3 R 1,520 L& 3193 BB 1,630 233 318 321 332 857
175 | [#tIERE—ItE (B2 ILHAIR) 9 PR 1,630/ L& 3,193 |[LiAIR 1,520 233 318 321 332 857
176 1IER&E(K2) 7 PR 1,630 15 R E(RIZ) 3,052 |#LER 1,630 163 257 ~ 251| 251 635
177 | [MIERE—H/ E-ERRE(FE-RRAER) 10 SEMET —+ 1,630| /& 3189 | =RHIER 830 255 391 359 443 962
178 |HREEE - 1E R & (ZE/NE) %2 8 “FEOYY 1,390 IR R & 3047 | “EHRNEOVY 1,390, 208 284 282 282 759
179 Il 34 & (dLiR 1) 243 3 LR s 2,030 fIL3Cr & 3,033 |dLiRlw 2,030 7.6 95 112 1.12] 283
180 | [ Ml 3L & (ALiRIE) </IMIlisC4 &> %3 3 JtiR 2,030l 3L & 3,033 |dLiRIE 2,030 7.2 92 112 112 276
181 | AT (HERE) 6 SEE 880 K& 2591 |BEE 880| 138/ 164 207| 207, 516
182 | FAE-AEHEKXRBE) 7 MHEE R MAE 960 FHE 2,604 |MHEKXFRIE 960 105 293 325 325 622
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2 3 o= (= = =) AAL | (km) | (m) (km)
183 (M1 E—FAEE(EXRNE-HE) <RE-KRE-/DNMEEFE> | 10 D |ENX/NE 970 KA & 3120 [HEEOYY 1,120 242 298  417| 402 965 RHE
184 BB & (B /NE) 6 C |EXNE 970 & 3013 |EE/NE 970, 129 183/ 237| 237 538/ EHE
185 | BB &= (EEiR) 7 ¢ |ERZFWLO 1,140 ATEEE 3013 |EERZFILA 1,140 156, 208 264 264 623 #HEAR
186 |[#t]1 2 & -FAE (BIR-AHEKXRBE) 8 C |ERZFILO 1,140 Rif 28 3013 |MHEKXMIE 960 199 256/ 320/ 338 775 #MEAL
187 | BLELLL (TR X #ll) 6 B |&Xflx 1,380| B & 2,841 | RX s 1,380/ 131 245 185 185 505 WLEE
188 |[EI BRI (FARHR) <hE&E - FiE> 5 C |[BARIMR 1,090 #R & 2,841 | HEARILR 1,090 126/ 158  2.09| 209 495 WL
189 | BHEL (B4 Th) <EHFH> 5 B |#ymh 785 E SR - FRIL 1972 |igHyh 785| 12.8) 18.7| 1.64| 1.64] 459 AEELF
190 [ BHELCTM) <SE> 5 B A0 268| H &AL -5 1,972 A0 268/ 113 186 1.95| 195  46.6 BH#ALF
191 | /EEL (B (A—T V1)) 3 B [EE(A—Tx4)| 1,280 BHELL-FRIL 1972 |F#(A—F9z4)| 1,280 5.3 85 1.10| 1.10| 238 A&KLFE
192 |[#t)BEEIL (KRR (O—T oz o) - L/NE) 2 B |Rgt(B—Tzm) 1,280 &1L - 5/RLL 1,972 | £/NE 1,495 4.7 88 083 062 197 B#ELFR
193 | BHEIL (/N E) 2 B |X/ME 1,495 A &AL -5 1,972 | X/MNE 1,495 3.8 92 084 084 186 BHELFR
194 [[AASIL (X/NB) < +FH5 Ik - 55 - TRk > 4 c |xME 1,495 B &R -FRIL 1972 |X/hE 1,495 58/ 143 148/ 148/ 304 AILF
195 |[#E1ASAIL (T2 - (B—Tozq)) <K#EE> 4 B |BEZII 462 B &ELL - FRLL 1,972 |K#E(A—TFox4q)| 1,280 77 152 166  1.66 359 AHLR
196 [ AL U\ TIR) <#EIEA - KA > 3 C |/\TiR 1,314/ AR -FRIL 1972 |/\TiR 1,314 47 124/ 139 139 269 BHLR
197 AL RAFZLO) <EsFHF-KAE> 5 C |RHAHZILO 571 RfE 1,982 RHAFHILO 571 118|181 193] 193] 471 ‘AHLF
198 |[#E1 A SRRy & (A (A—T 1) - fhy FETES) 4 B |BEL(B—Txz4a)| 1280 FA&IL-FRL 1972 R HREEHE 1,710 83 164 177  1.18 383 AHELR
199 | [#t ) E5ali2 - A S8 LL(E Al - /M) 4 C |mE:A (BEM) 648 A HELL - TR 1,972 | £/NE 1,495 75/ 128/ 149 064 326 FBH#LF
200 |[#t1=Z o & -AEILERAE - T/ E) 5 B |RHFUIRE) 415 B gEIL - TR 1,972 | /NE 1,495 84/ 172 212| 1.00| 420 ‘E#LF




